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The first three terms in a geometric series are (2k + 3), k, (k — 2), where k < 0isa
constant.

b) find @ and r uxfnd k:*ll}vm(u)

(a) Find the value of k.
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(b) Find the sum of the first 12 terms in this series.
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The second and fifth terms of a geometric series are 13.44 and 5.67 respectively. The
series has first term @ and common ratio .

(a) By first determining the values of a and r, calculate the sum to infinity of the series.

O]

(b) Calculate the difference between the sum to infinity of the series and the sum of the
first 20 terms of the series. Give your answer accurate to 2 decimal places.

(2]

as: 24 392

£
8
g 13244 = a0.3S
N 0.3S

Sw * 1342 _ 1392 - [31.6¢
1-03S S





image8.png
The second and fifth terms of a geometric series are 13.44 and 5.67 respectively. The
series has first term @ and common ratio .

(a) By first determining the values of a and r, calculate the sum to infinity of the series. b) SDO_ S 20
o= 17.92 .69
= . 6]
r= 035 See 6 1ol 20 )
(b) Calculate the difference between the sum to infinity of the series and the sum of the S = 1#92 (l -035
first 20 terms of the series. Give your answer accurate to 2 decimal places. 0 @ —F X
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A geometric series has first term 9, and the sum of the first three terms of the series is
19. The common ratio of the series is 7.

(a) Show that 9r% + 9r — 10 = 0.

3]
(b) Find the two possible values of .
2]
() Given that the series converges, find the sum to infinity of the series.
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A geometric series has first term 9, and the sum of the first three terms of the series is
19. The common ratio of the series is 7.

b) qr>+ 9r-10=0
o (30+5)(2r-2)

(a) Show that 9r% + 9r — 10 =

(b) Find the two possible values of .

(21

() Given that the series converges, find the sum to infinity of the series.
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A geometric series has first term 9, and the sum of the first three terms of the series is
19. The common ratio of the series is 7.

¥ ent; So <
(a) Show that 9r2 + 9r — 10 = c) Tng seres s convery ( i ' l )

W
W

z .
(b) Find the two possible values of r. / ‘ 3_‘ <l
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() Given that the series converges, find the sum to infinity of the series.
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The first three terms of a geometric sequence are given by x + 12, 3x, and x?
respectively, where x is a non-zero real number.

Find the value of the 102nd term in the sequence.
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99
A geometric series has first term 14 and common ratio —

100"

Given that the sum of the first k terms of the series is less than 1000, find the largest
possible value of k.
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The sum of the first three terms in a geometric series is 8.75.
‘The sum of the first six terms in the same series is 13.23.

Find the common ratio, 7, of the series.
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A geometric series has first term @ and common ratio V5.

a r=Js n=10 ( - e '\)
Show that the sum of the first ten terms of the series is equal to ka(V5 + 1), where k is / K Sn: a
a positive integer to be determined.
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The first three terms in a geometric series are (2k + 3), k, (k — 2), where k < 0isa
constant.

(a) Find the value of k.

(5]

(b) Find the sum of the first 12 terms in this series.

31

Fsavemyexams

<0

= (-2)(2k+2)

I = 2k 43kt -6





